

$$= \frac{\sqrt{(\sqrt{2} + \sqrt{2})}}{\sqrt{2} - 2} \cdot \left(\frac{\sqrt{2} + \sqrt{2}}{\sqrt{2} + \sqrt{2}} \right) - 2 = \frac{\sqrt{2(\sqrt{2} + \sqrt{2})}}{\sqrt{2} - 2} - 2 = \frac{\sqrt{2}(\sqrt{2} + \sqrt{2})}{\sqrt{2} - 2} - 2 = \frac{2 + 2}{\sqrt{2} - 2} - 2 = \frac{4}{\sqrt{2} - 2} - 2$$

Subject .

Year.

Month.

Day.

$$e-b) \sqrt[5]{\sqrt{x}} \cdot \sqrt[5]{14x} \cdot \sqrt[5]{x^5} \cdot \sqrt[5]{x^5} \cdot \sqrt[5]{x^5} \cdot \sqrt[5]{x^5} \quad (y)$$

$$2 \sqrt[5]{x^5 \cdot x^5 \cdot x^5 \cdot x^5 \cdot x^5} = \sqrt[5]{x^{25} \cdot x^5} = x^5 \cdot x = x^6 \quad 15 \checkmark$$

$$\frac{x^u(1+x+4+x^2+11+x^3+x^4)}{x^u(\frac{1}{x} + \frac{1}{x} + 1 + x + x^2 + x^3 + x^4)} = \frac{x^u(x^4+x^3+x^2+x+1)}{x^u(\frac{x^4+x^3+x^2+x+1}{x})} = x \quad -8 \quad (y)$$

$$2) 119 \times x^u = x^u \times x^4 = x^u \Rightarrow (\frac{x}{x})^u = \frac{119}{x^4} = x^4 \cdot x^4 = (x^4)^2 = x^8 \quad \checkmark$$

$$a = \sqrt[5]{54-x}, b = \sqrt[5]{54+x} \quad (a^5+b^5+5ab)(a^5+b^5+5ab)^2 = (x-54) - 4$$

$$= (a^5+b^5+5ab)(a^5+b^5+5ab)^2 = (54-x+54+x-54\sqrt{x})^2 = (54\sqrt{x}(x-1))^2$$

$$= \underbrace{(a^5+b^5+5ab)^2}_{=x^2a^2b^2} = (54-x+54+x-54\sqrt{x})^2 = (54\sqrt{x}(x-1))^2$$

$$= 14(x+1-54\sqrt{x}) = 14(x-54\sqrt{x}) = 14(x-54\sqrt{x}) \Rightarrow \checkmark = 14$$

$$a = \sqrt[5]{54-54\sqrt{x}} = \sqrt[5]{(x-54)^2} = \sqrt[5]{x-54} \quad (a+\frac{1}{a}+54\sqrt{x})(a+\frac{1}{a}-54\sqrt{x}) = 54$$

$$= (a+\frac{1}{a}+54\sqrt{x})(a+\frac{1}{a}-54\sqrt{x}) = a^2 + \frac{1}{a^2} + 54\sqrt{x} \cdot \frac{1}{a} - 54\sqrt{x} \cdot a = a^2 + \frac{1}{a^2} - 54\sqrt{x}(a+\frac{1}{a})$$

$$= \frac{4x - 54\sqrt{x} - 54\sqrt{x} + 54\sqrt{x} + 1}{x - 54\sqrt{x}} = \frac{11x - 48\sqrt{x}}{x - 54\sqrt{x}} = \frac{14(x-54\sqrt{x})}{x - 54\sqrt{x}} \quad (y)$$

$$= 14 \neq x^4 \Rightarrow \checkmark = 14$$

$$1) \sqrt[5]{x^5} \cdot x^{\frac{5}{x}} \cdot x^{\frac{5}{x}} \cdot x^{\frac{5}{x}} \cdot x^{\frac{5}{x}} = x^{\frac{5}{x}} \cdot x^{\frac{5}{x}} = x^{\frac{10}{x}} \quad (y)$$

$$x^{-\frac{1}{x}} \cdot (x^{\frac{5}{x}})^{-\frac{1}{x}} = x^{-1} \cdot \frac{1}{x} = \frac{1}{x^2} \quad \checkmark$$

$$\sqrt[5]{a} = \sqrt[5]{a^{\frac{10}{5}}} \Rightarrow \sqrt[5]{a} = \sqrt[5]{a^2} \cdot \sqrt[5]{a^2} \cdot \sqrt[5]{a^2} \cdot \sqrt[5]{a^2} \cdot \sqrt[5]{a^2}$$

$$\Rightarrow \sqrt[5]{a} = \sqrt[5]{a^2} \cdot \sqrt[5]{a} \Rightarrow \sqrt[5]{a^2} \cdot 1 \Rightarrow a = \frac{1}{x^5} \quad (y)$$

$$\frac{\frac{1}{a}-x}{10\sqrt{x}} = \frac{x\sqrt{x}-x}{10\sqrt{x}} = \frac{x(\sqrt{x}-1)}{(10\sqrt{x})} = \frac{(\sqrt{x}-1) \cdot x}{(\sqrt{x}-1)} = \frac{x}{1}$$

$$= \frac{4(x-54\sqrt{x})}{x} = \frac{4-54\sqrt{x}}{x} \quad \checkmark$$

$$(\sqrt{u+a} - \sqrt{u-E})(\sqrt{u+a} + \sqrt{u-E}) = k(\sqrt{u+a} + \sqrt{u-E})$$

$$\rightarrow \cancel{\sqrt{u+a}} - \cancel{\sqrt{u-E}} = k(\sqrt{u+a} + \sqrt{u-E}) \Rightarrow a + E = k(\sqrt{u+a} + \sqrt{u-E})$$

$$\rightarrow \sqrt{u+a} + \sqrt{u-E} = \frac{a}{k} + k \quad , \quad \frac{a}{k} + k - k = \frac{a}{k}$$